TERASAKI

INSTALLATION INSTRUCTIONS

MOULDED CASE CIRCUIT

BREAKERS
TEMBREAK PRO
P160 3P BASIC ELECTRONIC

NHP Electrical Engineering Products Pty Ltd

A.B.N. 84 004 304 812

AUS 1300 NHP NHP
NZ 0800 NHP NHP

nhp.com.au
nhp-nz.com

TOOLS REQUIRED (NOT included)

~ P

Screwdriver Screwdriver 13mm 13mm Ring
Flathead Phillips (#2) Socket Spanner
(5mm) wrench
HARDWARE (included)
& Zi
2 = B s
A B c D E Instruction
M8x16 M8 spring M8 flat M4x62 Interpole Manual
Slotted washer washer mounting Barriers (This Document)
Philips screw (6 qty) (6 qty) screws (2 qty) (1 qty)
(6 aty) (2 aty)

HARDWARE (NOT included)

or@@f@

| J
Lugs or *M8x25 hex *M8 flat *M8 Belleville *M8 nut
Copper Bars bolt washer washer (6 qty)

(6 aty) (6 aty) (6 aty)
*For extension bar connection only
OPTIONAL (NOT included)
@ 2
e
0 %

K L M N Internal

Extension Bars Terminal Terminal Cover Handle Accessories
Covers Lock Lock

MOUNTING ANGLES

MOUNTING

TORQUE
1.3-1.7 Nm

DIMENSIONS
M8 screw 24 L
0|
|
b
g gt L_ I \
D H
oE
53 ‘ 7
60
6.5 72 : Panel cutout
955
CLEARANCE _
e e Te] —[ererol MCCB CatNo. | min | Zmin
BR, BR, SIDE PLATE (mm) | (mm)
‘D‘@JD‘ ‘D‘Ej D‘ (EARTHED METAL) P160F 0 25
P160N
25
‘ ‘ ‘ ‘ P160H 0
[©] [OL IO] O] [e] IO]
Y
‘<—>‘ ” z > BR, ,BR,= Adjacent Isolators / MCCBs

CLEARANCE

TOP PLATE
(EARTHED METAL)

INSULATION
PLATE

|

-\

X, Xz

X,

—>

<+

BR,

Qg& BR,

BR, ,BR,= Adjacent MCCBs

|
iﬂ@ BR, i@@ BR;

*distance from conductor insulation to downstream MCCB

|[¢—s—>
3

W*min | X;min | X, min
MCCB Cat No. (mm) (mm) (mm)
P160F 50 10 10
P160N 75 | 45 | 25
P160H

P160_3_BE-IN-001-EN V1.0.0

OPERATING INSTRUCTIONS

Operation  |Force (Nm)

OFF — ON 40

ON — OFF 30

TRIP — OFF 60

DIRECTION OF POWER SUPPLY

@ @]

s

Ll J

[O] [O] [Q)]

OR

@ Bl el

8

[O] [O] O]

INTERNAL ACCESSORIES ASSEMBLY PROCEDURE*

STEP 1 TRIP MCCB
S

Push Trip
1 Button

STEP 3

IDENTIFY TRIP BAR
&
MECHANISM

ALARM TRIP BAR

SHUNT/UVT TRIP BAR

4.1

4.1

STE PALARM INSTALLATION
4.2

*For additional internal acccessory installations, scan QR code and refer to user manual for more details




TRIP UNIT ADJUSTMENT PROCEDURE

=
S
= N = o > =]
(] Pl © o
[} = S5 a
M £ s L © z 2 x S < L
o |5 2 o c L = el ool =l g g
m w w %m m o Ll h PF 3
c = Q2 = = 18] [} =) w 3338 o
7] Q > — o
S |35 2 5 g | < S £ = 9 - onwes ME3E83] 3
5] © o Qo = c —~ MN o o O [ DA - ~ 1)1z
[0} o Q9 o = S 5 =% = o B Toos | = oo
° [a) o 5 S| = @ > (2] il —10002 1 £ @©
= y o S ISNe] - Q < b o 0009 B K tw
© . © 2
E |E|E| |8 | 28|88 €s 2 O E t . g 58888 g
Fol X F b S T2 E 2 Z v ] 538 LN 2
'S ) & 5 a €2 5% S s g < 0E  MS5S+-00[ Mol = 2
oo © Tt |8 Om t=s| 26 [=)) o 005z = S
cc| o S ol %) © o| S5 = = D E! o P
0 9 90|AQ %DSm S |W® am o o w z N T Eg NE 2 5
mg 5| 0 @ § o0 % ISIRS) L o 1 = [77] oot = E=I ]
S23/ g 2 88g 25828 £ B 2| |u H 53
B So|lFE| c|F 2L & |85/ 28 © 5 u & 7 | |s858s Ll~eove 22
N 2el o & |x|5¢ m 52 = 2 © = o 5 10— |K|sssss *
nmm 5 g2 o3l 2 |28 2w £ 2 = O 12 5 ogngg =)
SFEJ|F |BEs = £E2/3F o 5 O o 1T 28888 — oave &
2 = = | = S o S ) 009
B 2w = S £ = s ! | 23
o B @ ] S < [} <[ £ =
= = a2 = o = = 007 =
o < < = E=] 14 = o =
W = o 0 2 o w 4 © s8
= 8 o] S =
g £ g £ o e Uggaes Lseges o 8
L s 3 D a = m o0z - £ 5
L EsS o = = 2
_.ﬁ_w [ S B - =] w.n“ 051 w =
Q = Q S99 & v X T B+ [T
i I R R = Z | g8&£<D® ] 3 < S 3
T — |+~ Z 5 | &= T = O - 3
- o 9] = Q@ [ = T || T | ] || | 3 = o
14 = ©
— X =2~ £ =3 = AL T H HHHH——t t © ]
& LI — 8 ® = nrvAnm T Tg98 8§ Seeove o Tgeg g Seeeve o TIEETE Y B - =<
o — PSS —+x O O oy | = ma@
QD= DO Oy o ~——au 22
£ 85 <« < z £
w | He&egkF oS —=x 3 o= [H{==
- (7)) — | () | W=ZWE Wg © 000) % |Au E
E_- S92 E5 w oo/ u =5
0T %05 oo = o =
Z2 T 20 Z2 © = =Z ©

-- EXTENSION BAR CONNECTION PROCEDURE

FRONT

A » X
L et

*Set MCCB toggle in required locking position i.e. OFF or ON

(% | e,
— = VP = W,

TOGGLE LOCK / PADLOCK ASSEMBLY PROCEDURE

7
% Y/

- e &/ BTHIE S s

L ‘ g© <h

z = xm-wo_u__.__lL x T ®

O

L L
: S
: :
T

CONDUCTOR CONNECTION PROCEDURE --

E|Elg| Ele £
1S £
€855 5| E|E
vilwi| ViV o
PQRSwSQWW
8o ]
§3235 _
5 &8 o2 > P - v
Llo=Zg O
© = 3 —
/N
= - |- / : x
S N, O ) — — w
5 22283 [ N RWN 3
feiit \‘\\\H. N ° 2
Z €5 ¢84g %&N»‘/////EN <
o 3553 K —/ 22 2
WWMNM /I S g © s
R_
! I P P P l%xog. i
4 — O < (==

=
E=]
=
>
7]
=

Compression
Terminal

i

Interpole Barrier

NOTE: Insulate the exposed conductor to achieve IP2X or protect from finger access.

TOPSIDE INSULATION RECOMMENDATIONS — 415/ 440V AC

TERMINAL COVER
INTERPOLE BARRIER




